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fRferitga fAge i eargdes afeq 37K 37eHT UTe ShieIe :

(i)  SHYHIT H33 o7& | G 397 7 & |

(ii) Y9993 Giq @US] 7 [T91f5id &8 — @&, @, T, T aIT & |

(i) @UEFH - J97GEI 1 T 16 7% TglaHcd1T YR & 97 8 | 3795 J97 1 3 HT 3 |

(iv) TIET-J57GEI17 T 21 7% 37 TG ITIT IR & J97 & | Id% I97 2 371
BT & |

(V) GUST - YT TEI122 T 28 T T I YHR & J97 & | Feb 97 3 371 H1 5 |
(vi) TUSY - 97 GEIT29 TIT 30 FH TR J97 8 | I Jo7 4 3% HT & |
(vii) GUEF - J7GEIT31 @33 TF e I JHR & JI7 8 | oI T97 5 HHI HT & |

(viii) ST T T [T 7&] 152 7T & | T, GUE & & HIIRFT 511 GV % I Tl
4 3711 197 &7 TI7 13T TIT & |

(ix) &I G 1% IR GO & 1o7g 37677 39497 & |

(x)  HIPIcT BT ITINT Tloid & /

GUs -
T3 T 1 & 16 T Tgfaehed g YR b 1 IH H I E | 16 x 1 =16

1. Toref Wi o gz fafde sw fogs Ui st srafedd 24 8, saard 8

(A) it ST B) fedfaes g
(C) qdiFeh G (D) =k AN
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éENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are
compulsory.

(11) Question paper is divided into FIVE sections — Section A, B, C, D
and E.

(111) Section A — question number 1 to 16 are multiple choice type questions.

FEach question carries 1 mark.

(tv) Section B - question number 17 to 21 are very short answer type

questions. Each question carries 2 marks.

(v) Section C - question number 22 to 28 are short answer type questions.

Fach question carries 3 marks.

(vi) Section D — question number 29 and 30 are case-based questions. Each

question carries 4 marks.

(vit) Section E — question number 31 to 33 are long answer type questions.

Each question carries 5§ marks.

(viit) There 1s no overall choice given in the question paper. However, an
internal choice has been prouvided in few questions in all the Sections except

section A.

(1x) Kindly note that there i1s a separate question paper for Visually Impaired

candidates.
(x)  Use of calculator 1s NOT allowed.

SECTION - A
Question No. 1 to 16 are Multiple Choice type Questions, carrying

1 mark each. 16 X1=16

1. The specific sequence in which amino acids are arranged in a protein 1s
called 1ts

(A) Primary structure
(B) Secondary structure
(C) Tertiary structure
(D) Quaternary structure
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&l g8 TTYThIT b1 Hal A1 2

Ar —N; X~ _Cu CN/KCN, Ar-CN + N,

(A) TugHRR AN

(B) Tifsruer Afcmrgs dgewon
(C) hIfdAUHIT 3TfHTshan

(D) BIHAM SHMTESS FH=entor 37ierfsha

3. TrfafEaa UeshiAl 4 & hH 91 Ugeh H 371 I STordie gRT qaIeh—sg[¢el Uehlgic

IdTfed hTT ?
(A) CH,CH,CH = CH, (B) CH,CH = CH,
(C) CH,- CH=CH - CH, (D) (CH,),C = CH,

4. 9T 3R JhTI H FARIBY o & TR0 gRT Icdtfed fadeft 19 7

(A) WIFHH (B) w&E g

(C) WhiesH (D) 31y (fex) M=

5. FshHUT YTqU STk ATk S b [T Yol iTd STH STd @ | 3TatehRit AMTehl & &+

& HRHUT 9TqU &l ST &
(A) 3fereh 3R (B) 3Tfeeh shiFd
(C) 3fereh a4 (D) 3Tfereh Yrfeereh
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The correct name of the given reaction is

Ar— N, X~_Cu CN/KCN_ Ar-CN + N,

(A) Sandmeyer’s reaction

(B) Gabriel Phthalimide synthesis

(C) Carbyl amine reaction

(D) Hoffmann bromamide degradation reaction

3. Out of the following alkenes, the one which will produce tertiary butyl

alcohol on acid catalysed hydration 1s
(A) CH,;CH,CH = CH, (B) CH,CH = CH,

(C) CH,- CH=CH-CH, (D) (CH,),C = CH,

4. Auto-oxidation of chloroform 1in air and light produces a poisonous gas

known as
(A) Phosphine (B) Mustard gas
(C) Phosgene (D) Tear gas

5. Transition metals are known to make interstitial compounds. Formation

of interstitial compounds makes the transition metal

(A) more hard (B) more soft
(C) more ductile (D) more metallic
56/5/1/22 5 WAAAAAAAAAAANAAAAAAAAAA, P.T.O.
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6. GHIUE fISH1 1 8Idl & 9HM
(A) =9 (B) 3T9dcHTeh
(C) YUHI QI (D) 3ATAdH

7. T=afafed e @ @ F 91 AU 7dNeT HRIEH T TYER 33T AT ?
(A) TR EA (B) H, - O, s 8

(C) b & (D) Ni-Cd 3«

8.  Tohelt STTWTshaT | 519 371¥ehHeh <l HIgdl TR THT S @l Il & dl JHIshAT S HIAg A1
¢ AT g | 3TTafshar bl shife 8

(A) 2.5 (B) 2.0

(C) 1.5 (D) 0.5

9. Tam= 3rueti # & forad ares @ fafgaa C o &1t 8 2

i T
C, O
O Sy, W ¢S,
CH, = =
Cl Cl
T T
C; C,
(111) HO/ = #’CHQCHS (IV) D/ = MCHB
CH, CH,
(A) I, II, III (B) 1, 11, 111, IV
(C) 11, 111, IV (D) I, III, IV
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Isotonic solutions have the same

(A) density

(C) osmotic pressure

(B) refractive index

(D) wvolume

Which of the following cell was used 1n Apollo space programme ?

(B) H,— 0O, tuel cell

(D) Ni-Cd cell

The rate of a reaction increases sixteen times when the concentration of

the reactant increases four times. The order of the reaction is

(B) 2.0

(D) 0.5

In which of the following molecules, C atom marked with asterisk is chiral ?

7.
(A) Mercury cell
(C) Dry cell
8.
(A) 2.5
(C) 1.5
0.
T
Ci’
(I) 5;%“5’-’!
CH( = o
> Ol
D
I
A1) 1o £ "CH,CH,
CH,
(A) I, II, III
(C) II, III, IV
56/5/1/22
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D) | =" p,

(B) I II III, IV

(D) I, III, IV
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0. Frefafad § 9 - =i e & oh! & T h Hohdl & ?

(A) OH-
(B) C.H.O"
(C) RO-

]
A

O9N

11. I FTetehdl Ud G FTeiehdl QHI bl THTIAd hLdl & | GHI 9T dIehiul o1 9T

T & :

(A) THAT HIY GHI 5 2 |

(B) AT % |1 QHI T2 & |

(C) 0T i T ATl 9@l & Sslich HIell ATeTehd] Tl & |

(D) T T T FTeTehdl T & Sfaieh HIeR dTeiehdl 9@l & |

12. Na,SO,-10H,0 feietad = Tt Ig A gY feh g0 371I 8l 71 8, S0 B heh o

A) 1 (B) 3
(C) 13 (D) 2
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10. Which of the following species can act as the strongest base ?

(A) OH-
(B) C H.O"
(C) RO-
-
at
0N

11. Dilution affects both conductivity as well as molar conductivity. Effect of

dilution on both 1s as follows :

(A) both increase with dilution.
(B) both decrease with dilution.

(C) conductivity 1ncreases whereas molar conductivity decreases on

dilution.

(D) conductivity decreases whereas molar conductivity increases on

dilution.

12. Van't Hoff factor for Na,SO,10H,O solution, assuming complete

1onization 1s

(A 1
(B) 3
(C) 13
(D) 2
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Y9 T 13 H 16 o 7T, &1 eH feu 7T & — 994 U 1 AR (A) a1 g I
ST (R) 1T 3Aferd fopam T 8 | 394 U941 & ¥t St A= few mu smiEh (A), (B), (C) 31X
(D) ® | gL ITTT :

(A) HANTHAT (A) T HROT (R) SHI &l & AR SR (R), AR (A) 1 T&T SR

S 2 |

(B) 3Mh¥H (A) 3R &ROT (R) GAI F&l &, 9d ®rol (R), AMHAT (A) <l Fal

ST T8l hidl & |

(C) 3THHYA (A) Fal 7, 9] R (R) TTeTd 2 |

(D) YA (A) Tl 8, 93] 10T (R) T & |

13. AR (A) : Zr AR Hf &1 o191 J0H 9] B & |

FROT(R) : I8 TS HTHa & R 3 |

14. JANHY (A) : TorHll 3= whife 1 AR o 170 a7 TRes 3R 3Aivishan o 6l

T2 99 Bidl 2 |

SR (R) : S Il ol AMTHAT H, ITMTHAT ST JTTWIHATT =l Higdl T HET
el HLaT B |

15. AR (A) : S\ 2 AR 1 o= o1 et dferd aiar & |

%1 (R) . TR SHTETeh eI o THHTIT o H1e HATEL Bl 2 |
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For questions number 13 to 16, two statements are given one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not the

correct explanation of Assertion (A).
(C) Assertion (A) 1s true, but Reason (R) 1s false.

(D) Assertion (A) 1s false, but Reason (R) 1s true.

13. Assertion (A) : Zr and Hf are of almost similar atomic radii.

Reason (R) : Thisis due to Lanthanoid contraction.

14. Assertion (A) : The units of rate constant of a zero order reaction and

rate of reaction are the same.

Reason (R) : In zero order reaction, the rate of reaction 1s independent

of the concentration of reactants.

15. Assertion (A) : Inversion of configuration is observed in Sy2 reaction.

Reason (R) : The reaction proceeds with the formation of carbocation.

56/5/1/22 11 WAAAAAAAAANAAANAAAAAA, P.T.O.
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16. AMBYT (A) : p-ATEIhHIA ehl ToAT H p-HATRAhIAT TeeTal 37 ¢ |
FROT(R)  : HATHH TUg +] YWTE ST & (e A1l T8 — JHTE g1 & |

gl -9
17. T8 HINT ;
(a) AT o Tad AT T HIAUIY 34 AT
(b) TS T AT T I¥H 30 FarsT | 1x 2
18. THmfcTRad wrehtal sl HHEHES 3R SIFHHUES H Sfichd shIT : 2

TTlae I, Toh ™, o™ 3T Ao

19. (a) T4 wg=aw0r 99— $hifsu

(i) TSI | U 1
(i) UM & %hiHA 1
YT
(b) (1) STSHIUS UHH TR WH H fave s o foiu qamies gdieqor fefigu | 1
(i) S SEUANIH FANES sl KI o |1Y HHehd fpy ITH W HiHd 3cu1g
feafaw | 1

20. <ITeY foh wem shife ot srffsran & 99% srffshan qui 819 & o w9 90% rfrfsran qui
B H o STl 99 | @1 31 8 | (log 10 = 1) 2

21. 0.2 mol L1 KC! Taet™ & 9 §U Ueh HTeTehdl {ed bl TfcIe 200 Q 7 | Al I HeA ol
gfce 0.05 mol L~ KC! fae@H 9 9 620 Q &1 d1 0.05 mol L1 KC! faeaH i

FTAhdl T HI FTeiehdl IiEehictd shilsi@ | 0.2 mol L~! KC! fae= i Ireiehd

0.0248 Scm 1% | 9
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16. Assertion (A) : p-methoxyphenol is a stronger acid than p-nitrophenol.

Reason (R) : Methoxy group shows +1 effect whereas nitro group

shows —I effect.

SECTION -B
17. State:

(a) Kohlrausch law of independent migration of 1ons.

(b) Faraday’s first law of electrolysis. 1 x 2

18. Classify the following sugars into monosaccharides and disaccharides : 2

(Galactose, Glucose, Lactose and Maltose

19. (a) Carry out the following conversions :

(1) Nitrobenzene to Aniline 1
(11) Aniline to Phenol 1

OR
(b) (1) Write a chemical test to distinguish between Dimethyl amine

and Ethanamine. 1

(11) Write the product formed when benzene diazonium chloride 1s
treated with KI. 1

20. Show that 1n case of a first order reaction, the time taken for completion

of 99% reaction 1s twice the time required for 90% completion of the
reaction. (log 10 = 1) 2

21. Resistance of a conductivity cell filled with 0.2 mol L~! KCI solution is
200 Q. If the resistance of the same cell when filled with 0.05 mol LL=! KCI

solution 1s 620 Q, calculate the conductivity and molar conductivity of
0.05 mol L~! KCI solution. The conductivity of 0.2 mol .-} KCI solution is

0.0248 S cm™1. 2
56/5/1/22 13 WAAMAAAAAAAAAAAAAAAAAAA, P.T.O.
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22. Trfciga IuasaasH Afiepi o 313 J 91 vt 9m ffige (@1E @) 1x3
(@) [Co(NH,),CI(NO,)]CI (b) [Ni(NH,).]CI,
(c) Kg[Cr(C,0) 4] (d) [Co(en),Br,]™
23. THHfcIRgd AHTRITAT 9 3Tuierd & 3cTg shl 9T GHT : 1x3

(a) VA T TS TR FHTEE o T IR T TA3TTee |
(b) T TR 31T <! ITFRATd U S2- 1-57 1 TeTle |
(¢) ThIFT hl STHIA STet oh T 3TTTshaT |

24. THHCIRGd Tcdeh ITUTHAT o T&F 3G hl FLEHT SATST : 1x3
O

i; [Ag(NHg)o]* OH™
(a) >

CHO
(b) CHg\c ol v NaOI
H” \ﬁ - CH, ’
0

EICHO NaCN/HCI
(c) >
COOH

95. TI=tIfigd 91 & emf &1 I SHIfoTT 3
Ni(s) + 2A¢*(0.01 M) —> NiZt (0.1 M) + 2Ag(s)
IFRIRIE I Ei_ =1.05V,log10=1

26. fH=TceIRad & ST §ifT 1x3
(a) AgCN o |TY TTsHAT HTeh getiloehd JE&T IcTTG AT HiHd i 2 |
(b) UfeTed FANTSS Sy 1 RT3 T 3fereh fshameficid Tgfid sidi = |
(¢) e ATfHentrft faeemaa JAfsrferanati o ufd &H fshamsfie ad & |

56/5/1/22 14
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SECTION -C
22. Write the IUPAC names of the following coordination compounds
(any three) : 1x3
(a) [Co(NH,),CI(NO,)]CI (b) [Ni(NH,)4|Cl,
() K;[Cr(C,0,),] (d) [CO(en)zBr2]+
23. Give the structure of the major product expected from the following
reactions : 1x3
(a) Reaction of Ethanal with methyl-magnesium bromide followed by
hydrolysis.
(b) Hydration of But-1-ene 1in the presence of dilute sulphuric acid.
(c) Reaction of phenol with bromine water.
24. Draw the structures of major product(s) in each of the following reactions :
1x3
O
[Ag(NHg)o|" OH™
(a) >
CHO
CH CH
(b) S\C - C/ * NHOI
H/ \(lf — CHS ’
O
@:CHO NaCN/HCI
(c) >
COOH
25. Calculate the emf of the following cell : 3
Ni(s) + 2Ag21(0.01 M) —— Ni%t (0.1 M) + 2Ag(s)
Given that K2, =1.05V, log 10 =1
26. Account for the following : 1x3
(a) Haloalkanes react with AgCN to form 1socyanide as main product.
(b) Allyl chloride shows high reactivity towards Sy 1 reaction.
(c) Haloarenes are extremely less reactive towards nucleophilic
substitution reactions.
56/5/1/22 15 WAAMAAAAAAAAAAAAAAAAAA, P.T.O.
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27. 300 K & 320 K 1 T I TehE] SAISHAT <hT T RIS = THT Bl ST 3 |
59 FshaT o TTT HishaT sl <hl 0T i | 3

[log 2 =0.30, log 4 = 0.60, 2.303 R =19.15 J K~!mol™]

28. C,H N 3Tivereh I3 a1et fehell AMireh X 9 C . H SO, Cl = |1 SA(MTshaT hich Teh &R H

3faeid 3 fgam | X <l 989 SHIfT 3R 3Iq1g 1 318 J 91 T H 9m e | Heg
TUTRAT TARET | 3

Qg - ¥
frferRad wom her-3UTitd W9e & | 68 ol SIHgde IfeU 37K feu 7T gt < 3T i |

29. Teh Hhel U shg!d T H Jg Tt ToRTue! i Al 37k T3l o Soidei4 Il Higd &l
[oTIT ST a1 Shrg 1 ILHTY] T IUFERAA 3TTSINT ohl 3Heh! AT T had & | 381 TR
Tl G AT 3Heh T W 9L AT o I o SO BIdT &, AT hg1d 9Tq AT T
A 3T 35! B BT feTTUS] < 311a91 o AN o UK Bl & | 36 I AT, Al Teeh]
o 3TTAS T AT I &I Al THcl bl IR Had & | AU, GAI=eh JTUST UMb
Ghet o foTU, T2ehi o AT T AN TH<T HSeA I AT o S BT 2 |

LR =T U1 TR = TeTRad SwA1 < I ST :

(a) 3WICH! feTTTUS < Ueh IGTETUT < BT TN hITT | 1
(b) [Co(NH,).CI]SO, 3R [Co(NH,),SO,]Cl % gHI fohd TehR shl THTGHSAT G213
TS ? 1
(c) hicic THTE hi TIUTINA ShIST | T8 Hehel ob LATRICH hl <h¥l IHTIAd hidl & ? 2
COE|

() Nagy[Cr(C,0,),] | hIfHAH i ITHEEASH AT TH T[0T HTEAT T

HITIT | 2
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27. The rate constant of a reaction quadruples when the temperature changes

from 300 K to 320 K. Calculate the activation energy for this reaction.

[log 2 = 0.30, log 4 = 0.60, 2.303 R = 19.15 J K~ 'mol~!] 3

28. A compound ‘X’ with molecular formula C;HgN reacts with C,;H.SO,CI to

ogive a solid, insoluble 1n alkali. Identify ‘X’ and give the IUPAC name of

the product. Write the reaction involved. 3

SECTION - D

The following questions are case-based questions. Read the case carefully

and answer the questions that follow :

29. The oxidation number of the central atom in a complex 1s defined as the
charge 1t would carry if all the ligands are removed along with the
electron pairs that are shared with the central atom. Similarly the charge
on the complex 1s the sum of the charges of the constituent parts 1.e. the
sum of the charges on the central metal 1on and its surrounding ligands.
Based on this, the complex 1s called neutral if the sum of the charges of
the constituents 1s equal to zero. However, for an anion or cationic
complex, the sum of the charges of the constituents is equal to the charge

on the coordination sphere.

Based on the above information, answer the following questions :

(a) Define ambidentate ligand with an example. 1

(b) What type of isomerism 1is shown by [Co(NH,).C/]SO, and
[Co(NH,)-S0,]CI ? 1
(c) Define Chelate effect. How 1t affects the stability of complex ? 2

OR

(¢c) Find the coordination number and oxidation state of chromium in
Na [Cr(C,0 )q]. 2
56/5/1/22 17 WAAAAAAMAAAAAAAAAAAAN P.T.O.
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30. UHT ¢@T 1 2 Toh BAN IS H B hlsli-eh ANl ehl TTERAhdT G&H HEAT H Bidl & Td
3eh! ST o HRUT TRy T B SATd & | 37 A6k ol oo shad 7 | 3rierepren fererta
T TICTTIT BAR IR g &l kT ST Fehdl ifchd N ST It foreTiiqT o1 d9etyor &t
ehd &, 37d: S ATIIH BN ek AHET T 3 | AT JTEHAT o dad I3 gaR few
39T 55 eIl hl 34~ L Tehd & | IHRIA: TR TER H T+t foerfim 3uctsy
T&d 2 | foefim (Vitamine) €1 3161 — faee (vital) + THIA (amine) A SR 41 8, TR
YT T U T FifTeh] H UHHI T8 AT | el a1 991 § foeidl & YR W faeiiHa0
bl 1 HHEI H ifichd TohaT T & — I8 foretd et aen siet 1 foor fererfm |

fr=fafaa yoa1 & 3T difse

(a) o= B, 1 qoU A 18 ? 1

(b) 39 ToreTi oh1 A8 SdTSY fSHehl Sl ¥ W o YRl S s GHI HJIgaI Sdla | 1

(c) To3TIwATeHAT fohd Tt 1 sl | 81 ATd1 2 7 39 ToeTiHA < <1 &id iy | 2

AT

() BHN IR H faei®a C i 9fad o1 T81 fhaT ST Hehdl & 7 39 TaeiiaH &l &»Hl |
REEIGRUEIRIEEGIES 2

gig - ¢

31. fr=fafad a9 fdi qig gv1 o I IS 1x5

(a) Ce(III) AEH & Ce(IV) H Hialshd &l Aral & | feouft ST |

(b) E°(Mn2*/Mn) —1.18 V 8 | HUE d-scileh el bl ol H Jg T 3Tcd=

RUTTcHeh o] & ?
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30. Certain organic compounds are required in small amounts 1n our diet but

their deficiency causes spect

1c disease. These compounds are called

vitamins. Most of the vitamins cannot be synthesized in our body but

plants can synthesize almost

all of them. So they are considered as

essential food factors. However, the bacteria of the gut can produce some

of the vitamins required by us.

All the vitamins are generally available in

our diet. The term ‘vitamin’ was coined from the words vital + amine,

since the earlier identified compounds had amino group. Vitamins are

classified into two groups depending upon their solubility in water or fat

namely-fat soluble vitamins an

d water soluble vitamins.

Answer the following questions :

(a) What is the other name of vitamin B, ? 1

(b) Name the vitamin whose deficiency causes increased blood clotting time. 1

(c) Xerophthalmia 1s caused

by the deficiency of which vitamin ? Give

two sources of this vitamin. 2

(¢) Why can’t vitamin C be st

OR

ored 1n our body ? Name the disease caused

by the deficiency of this vitamin. 2
SECTION - E
31. Attempt any five of the following : 1x5

(a) Ce(IIl) 1s easily oxidised to Ce(IV). Comment.

(b) E°(Mn4*/Mn) is —1.18 V. Why is this value highly negative in

comparison to neighbouring d block elements ?
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(¢) 3d — 2uft o fehd el shl UM TATHT =HaH & 3T =1 ?

(d) HfSIH hIHC I ITrefichd i LT BT 8 ?

(e) Zn, Cd 3R Hg e 91qU &, =1 2

(f) oETe 3ET HCI <6t 3uferfa o o1 =21 foham Sirar & 2

(g) HhHUT dwdl (9Tq3Ti) o I ATHEE ¥R Bd § S@ih 3| JGHISS

IVIYHT / 3TATT BId & | ShIOT Sl |

32. (a) (i) 3YM o SWAMAd 984 o Uste H 1.0 kg I WU 8 | S 394 fohad U™

T TS (AP 2699 = 62 ¢ mol~1) fiem arfes fae=a =1 faames

—2.8 °C RIS | 511 % feTt K 1.86 K kg - mol 12 | 3

(i) UAHTA — THIH fHeror gra Ukee fFam o forg Yeri o1 faerers <91t S @ |
ST Y | 2

CPE]

(b) (1) 750 mm Hg T€ W T &1 F4T 99.68 °C 2 | 500 g I H feha

Feh¥ (FIeR go99 M = 342 g mol ™)) Tiarmn S drfer g 100 °C W F=9YH

L | (ST h felT K = 0.52 K kg mol ™)

(i1) AU 999 Iq18T 3R SEhT hig Teh FAIAN (TRET | 3+ 2
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(c) Which element of 3d series has lowest enthalpy of atomisation and

why ?

(d) What happens when sodium chromate 1s acidified ?

(e) Zn, Cd and Hg are soft metals. Why ?

(f) Why 1s permanganate titration not carried out in the presence of

HCI?

(g) The lower oxides of transition metals are basic whereas the highest

are amphoteric/acidic. Give reason.

32. (a) (1) Ishan’s automobile radiator 1s filled with 1.0 kg of water. How

many grams of ethylene glycol (Molar mass = 62 g mol™!) must

Ishan add to get the freezing point of the solution lowered to —

2.8 °C. K, for water 1s 1.86 K kg - mol~1. 3

(11) What type of deviation from Raoult’s law 1s shown by ethanol

and acetone mixture ? Give reason. 2
OR

(b) (1) Boiling point of water at 750 mm Hg pressure 1s 99.68 °C. How

much sucrose (Molar mass = 342 g mol™!) is to be added to 500 g

of water such that 1t boils at 100 °C ? (K, for water = 0.52 K kg
mol™1).

(11) State Henry's law and write 1ts any one application. 3+ 2
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33. (a) U hrsii-eh AR (A) &kt = CoH,,O & 2, 4-DNP 4~ sHIAI &,
e foeTae sl 3rafad sedr © 91 Shiasm rffsrar ear 2 | yoar tieeientor 1T

98 1, 2-ssIeTsshId [ oTeh 3TFA SHTAT © |
(1) Tk (A) Wl I8ATHE 3R 391 [UPAC 9™ TARgU |
(i) IR (A) sl JATTRa faRau :

(1) 2, 4-SEATEhHARISSS I o 1Y IR

(2) hicTT Taread & 91y

(iii) IR (A) 1 THRT fARgu STe I8 shisir JAffehar <ar 2 | 2+2+1
AYET
b) () TF=fafga s wro N . 1 x 2

(1) TUfcearssl 3R BT o o-BT3S IS ohl WY A Bdl & |
(2) hIEHI shl 31T UfceaTSS] o1 AT RN STHTI H &l ST & |

(i) T=faIRgd ol AR HITT - 1x 2

(1) U, VHIEH 3R d=sifcearss bl 39ch! TTRIA IS SATIfsRamat
< Utd gedt ATasRamsiierdr 3 |

(2) TIUH, T 3TR SR U, TTUATA ohl 3ch FIYAThI o gad shd H |

(iii) S=sIIgeh 3T Ud Salfcearss H fa¥ue oid o ol Oid TaEHs qaemor e | 1
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33. (a) An organic compound (A) with the molecular formula C4H,,O forms

2, 4-DNP derivative, reduces Fehling solution and undergoes

Cannizzaro reaction. On vigorous oxidation, i1t gives 1, 2-benzene

dicarboxylic acid.

(1)
(11)

(iii)

(b) (@)

(11)

(iii)

56/5/1/22

Identify the compound (A) and write 1ts IUPAC name.
Write the reaction of compound (A) with

(1) 2, 4-Dinitrophenyl hydrazine and

(2) Fehling solution

Write the equation of compound (A) when 1t undergoes

Cannizzaro reaction. 2+2+1
OR
Account for the following : 1 x 2

(1) The alpha (a)-hydrogens of aldehydes and ketones are

acidic 1n nature.

(2) Oxidation of aldehydes 1s easier than ketones.

Arrange the following in : 1 x 2

(1) Decreasing reactivity towards nucleophilic addition

reaction propanal, acetone, benzaldehyde.
(2) Increasing order of boiling point :

Propane, Ethanol, Dimethylether, Propanal

Give simple chemical test to distinguish between Benzoic acid
and Benzaldehyde. 1
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